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ECONOMICS

Paper 11

1
Time Allowed : lz Hours] [Maximum Marks : 100

Note :—This paper consists of fifty (50) multiple choice questions. Each question

carrying fwo (2) marks. Attempt all of them.

If demand curve is a rectangular hyperbola; what would be the value of price

elasticity ?

(A) Equal to zero (B) Equal to one
(C) Equal to infinity (D) None of these
2. An Engel curve shows the relationship between demand for a good
and :
(A) Its‘price
(B) Price of the related good i
(C) Income of the consumer
(D) Utility level of the good
3. The Revealed preferc;nce hypothesis was introduced by Prof. Samuelson
in :
(A) 1936 (B) 1938
(C)

1940 (D) 1952
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U9 9 11
1
g o 1 U] . [quifs : 100

Ae 39 WA-TF H Ue (50) Tgfawedd wH ¥ O wEw w9 () %
T ||t yE F s A

1. Ifg /i 5% Tk gHEUE AfTREed (Rectangular hyperbola) &, @ | &t #iud
e ® ged # o'W ?

(A) IHE F T (B) THTE & Y&
(C) 3Fd & &UeR D) T q 8 ft ==

2. U T~A g% g% i WO gy vt % &9 Ty quiar ¥
(A) TH 9% HI wHd
(B) wEfyd a% ! HHd
(C) 39l & HA
(D) =% 1 IFGITA F TR
3.  WieE e (Samuelson) BN WiWifed Wehe afﬁwmﬁanammuﬁmm

g9 § g T ?
(A) 1936 | (B) 1938
(C) 1940 . D) 1952
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4. If the value of cross elasticity of demand is (+) 1, the commodities are :
(A) Complementary
(B) Substitutes
(C) Giffen
(D) Not related to each other

5. MC (Marginal Cost) curve is also the short-run supply curve (SS) of a firm
in :
(A) perfectly compet_itive market
(B‘) monopoly.
(C) oligopoly

(D) none of the above

6. When planned investment is greater than planned savings, the gross domestic

product will :

(A) rise (B) fall
(C) remain the same (D) be in disequilibrium
7: If the consumption function is given as C = 500 + 0.5Y and investment is

I = 400 Cr, what will be the equilibrium level of income ?
(A) 1500 Cr (B) 1200 Cr

(C) 1800 Cr D) 2400 Cr

TBC-39/13/ET 4



4. Ffg A F AE TAF F I (+) 1§, @ T
(A) =
(B) ¥YMTO= @it
(©) fifte awqd it _
(D) fodt off yoR ¥ wafem & &0
5. dMrd @G G BH W eSS gfd & ot B ¥ o
(A) goi gfaEr sem #
(B) uHIfgsR #
(C) ST("QTﬁTq’?Rﬁ.

(15) foredt off 9o e # @

6. e freifsa fEw fefsa s=sa ¥ sfus & @ 9%a 9 SR (GDP) :

(A) = | (B) wem

(C) ¥FHE W (D) THEqEE Ht oaEdr H B

7 A IUNMT wed 3W OYER g T ¥ fF C = 500 + 0.5Y IR @AW

I = 400 #Us ¥ | Sgfem oM@ =1 =X fwawm &@m 2
(A) 1500 =S (B) 1200 U

(C) 1800 Fis D) 2400 FIs

TBC-39/13/ET . 5
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8. Other variables remaining the same, increase in domestic income

leads to :
(A) Upward shift in net export function
(B) Downward shift in net export function
(C) Downward movement along the net export function
(D) Upward movz‘ement along the net export function

9. If Demand .for Money (Dyy) is highly interest elastic, then :
(A) LM curve will be steeper
(B) IS curve will be flatter
(C) LM curve will be flatter b
(D) IS curve will be steeper

10.  ‘Kinked-Demand’ model was introduced as an operational tool for the deter-

mination of the equilibrium in oligopolist markets by :
(A) A. Cournot (B) J. Bertrand

(C) P. Sweezy (D) J. Bain
TBC-39/13/ET 6



8. ¥ AW WM W W WG W F qfp B wowey -
A) = ﬁzﬁa HeH FR H AR faw® (upward shift) ST
B) Y% Fral wem 2 9 sin fows (downward shift) ST
(C) s fald vom & @19 9 Y ot sea™ (downward movement). ST
D) s fafld wem & 99 IR #F AR TTEE (upward movement) 3T
9. AR W F AT (Dy) WS R B wh @I E Q-
(A) LM &% T3] (steeper) BN
(B) IS =% ®UR (flatter) it
- (© LM 7% WU (flatter) ¥t
D) IS HEF @9 (steeper) Bt

10, sreqfosR ST @ wger i 3 Rrf-d dew T ehe G 5

w9 H 9 seferelt gw whwfea fear & 2
(A) T = (B) . ==

(C) . wish D) S 9

TBC-39/13/ET 7 P-R0. -



11

12.

13.

14.

If the price elasticity of demand is equal to one (E}D = 1), value of MR will

be equal to :

(A) One (B) Zero

(C) Greater than one (D) Infinity

If Q (output) = 0, then Total Cost (TC) of production will be equal
to :

(A) Zero

(B) Total variable' cost

(C) Total fixed cost

(D) Average fixed cost

If ‘D’ as initial deposit and ‘R’ as the cash reserve ratio, the general formula

for deposit multiplier is :

D ; —
(A) R (B) DxR

D D
© TR ® T-®

Assuming that Long-run Aggregate Supply Curve (LRAS) is vertical, Phillips

curve will be :
(A) wvertical (B) horizontal

(C) downward sloping (D) upward sloping

TBC-39/13/ET 8



11.

12.

13.

14.

afx A F AHG A FEE P W ¥ (B, = 1), @ = 9 W g
(A) sws‘%'awm (B) ¥ & & B

(C) 3= § fus & - (D) Ed F SFUET '
WWW(Q)W%E’!WH&@W:

(A) ¥ & FUs B

(B) a@vﬁaﬁéﬁam%mm

(C) =a feer @rm & s eFft

(D) aﬂ'qaﬁ:mam@aw?l’ﬁ

R D’ AR 51 7 991 ‘R’ e UHa 319 ®, @ STH1 oM (deposit multiplier)

H1 WA §F (formula) T BN ?

A = (B) DxR

Seerel ¥90 gfd 9% 1 FEAeR (vertical) 9F foan 5@ < ‘fiefarw’ (Phillips)
a% Har g ?
(A) FEHR ®)  a&fas

(C) = = R TEA g (D) FR HI AR o@H gre

TBC-39/13/ET 9 P:TNO.



16.

17.

18.

The

(A)

(C)

The

(A)

(B)

(©)

(D)

The

(A)

(C)

The

(A)

(B)

(&)

(D)

‘Critical Minimum Effort’ theory was propounded by :

H. Leibenstein (B) J.H. Boeke
W.A. Lewis (D) Rosenstein-Rodan
rationale of ‘big push’ theory is based upon the idea of :

Size of population

External economies

Internal economies

Area of the country

‘concept of unbalanced growth’ was givezi by :

Karl Marx (B) Harrod-Domar

A.O. Hirschman (D) K. Kaldor

Physical Quality of Life Index (PQLI) is based on :
Percentage of literacy, infant mortality and life expectancy
Adequate supply of food, water, shelter and health services
Provision for education and sanitation

All of the above

TBC-39/13/ET 10



15. ‘wifds =Fa9 ¥’ (Critical Minimum Effort) fogm =1 wfoaes feas g

fegr ™ § 2
(A) TH. deeH (B) . THE. 9@
(C) ==9. T wfag D) IE=EHA-TEH

16. ‘=e1 yww' fagra #1 9@ f99%F (Rationale) F8 @& (Idea) W M@ ¥ ?
(A) SEEEA N ITER (B) d®@ wed
(C) dfed == D) T w AEA
17. ‘swigfem Wafs W smeRon’ w1 wfioe fREd fEa 2
(A) el TR (B) ®=-3R
(C) T 3. =T (D) . FHEER
18. ‘Sfed #1 sffvw e gEwE (PQLD fRe W emufa ® 2
(A)  WERa F wfcer, R 7E- Tg S e
(B) HIoH, UM, EE TE WRe Haied w1 wEiad

() foen @@ @=sa & foau y@Eyue

(D) 9gF mﬂ.
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19.

20.

21.

22.

Which Five Year Plan was suspended one year before the time

schedule ?
(A) First Plan (1951-56) (B) Third Plan (1966-71)
(C) Fifth Plan (1974-79) (D) Sixth Plan (1980-85)

The Headquarter of Asian Development Bank (ADB) is located at :
(A) Hong-Kong (B) Tokyo
(C) Manila (D) New Delhi

What was the Gross Domestic Savings rate of Indian Economy in 2010-

2011 ?
(A) 32.1 (B) 36.5
(C) 340 (D) 30.4

Which one of the following shows alternative targeted rate of growth in India

during the Twelfth Five Year Plan ?

(A) 8 and 8.5 (B) 85 and 9

(C) 9 and 9.5 (D) 9.5 and 10

TBC-39/13/ET 12



19.

20.

21.

22.

Wﬁmmaﬁmmﬁwaﬁﬁm‘ﬁﬁ(suspended)mﬁ

T oAt ?
(A) 999 ST (1951-56) ’ (B) gt I (1966-71)
(C) ==l AT (1974-79) (D) B3 AT (1980-85)

‘Tt fawE §%' (Asian Development Bank) @1 qeaey Fe W fe

¥ 2
(A) - | B) =R
©) e D) = feeeht

WRdTE ideree # 20102011 $ RA wH e w=q R T A 2

(A) 821 | (B) 365

(C) 340 (D) 30.4

124 doEeiy e & fod o @ e dsfeow o afim e w1 o § 2

(A) 8 4991 8.5 (B) 85 @@ 9

(C) 9 dum 95 (D) 9.5 941 10

TBC-39/13/ET 13 ETO.



23. In which of the following years, was the trade balance favourable to

India ?

(A) 1970-71 and 1974-75
(B) 1972-73 and 1976-77 -
(C) 1972-73 and 1975-76
(D) 1971-72 and 1976-77

24.  Which one of the following is the share of India’s exports in world trade in

2011 (%) ?
(A) 05 B) 1
©) 1.7 D) 3

25. Who is the chairman of capital account convertibility committee ?
(A) N.K. Singh (B) S.S. Tarapore -

(C) Raja Chellaiah (D) Chandrashekhar

B
o

A systematic record of values taken by a variable or a number of variables

on a particular point of time or over different periods of time is called :

(A) statistics (B) random variable

-

(C) index ‘ (D) data

TBC-39/13/ET 14



23.

24.

- 2.

26.

ﬁmfaﬁaa%aq‘fﬁ,wwm%mﬁm ?
(A)  1970-71 @ 1974-75

(B)  1972-73 991 1976-77

(C)  1972-73 941 1975-76

D)  1971-72 991 1976-77

ﬁmﬁ@aﬁﬂaﬁwaﬁzoll(%)ﬁﬁwwmﬁwmhmﬁw

a2
A) 05 B) 1

€)' 1.7 D 3

* W % m é.@ ﬁ $ esbadnasrresprencansseces ] Ega % I
(A) wifegst B) IRF=F =
©) g== D) AfFe

TBC-39/13/ET 15 PRO:



2. Kurtosis refer to :

(A)

(B)

(C)

(D)

spread of data around mean
degree of peakedness of a frequency distribution
frequency of a class

none of the above

28. The degree of association between two variables is measured by :

(A)
(B)
(C)

(D)

Regression analysis
Correlatiqn coefficient,
Coefficient of variation

None of the above

29. TFive personsa,b,c,d,e occﬁpy seats in a row at random. What is the probability

that @ and b will sit next to each other ?

(A)

(©)

2 3

5 (B) 5

4 12
5 (D) 120

30. Mean and variance of a Poisson distribution are :

(A)

(C)

np (B) npg and %

oo (D) same both being = j

TBC-39/13/ET 16



o7, Faedl (Kurtosis) &1 319 ¢
(A) W & FH-UH AFHS] F HAd
®) i fmn = e A B
(C) = =t mgfa ‘
D) s § § oF &

28. ﬂ%ﬁ%aﬁaﬁﬁﬁmaﬁmmwm%?
(A Wi fageem (B) W=y TUiH
(C) WO Ui D) T F FE T

29. W AR a, b,c,d, e TH WY T I K R AT A A TR E =
e =feadl H A A o 9w b TE WY I3 ToEl e uifthwdr § 2

2 3
(A) 5 (B) 5
4 12
(C) 5 (D) 120
30, @ faawo & mrem @ r wERwr ¥
(A) np (B) npg 3R _I%:_I_

©) o D) A THERFTEIE ) =np

TBC-39/13/ET ' 17 2T0.



31. Time series is a set of observations on a variable measured at :
(A) same point of time
(B) after é decade
(C) successive points of time:
(D) none of the above
32.  Null hypothesis is a hypothesis :
(A) Whiph is always true
(B) which is always wrong
(C) non-existent hypothesis
(D) which is tested for possible rejection under assumption that it is true
33. Type II error occurs when :
(A) we reject Hy when it is trug
(B) accept Hy when it is wrong
(C) we reject H ' (alternative hypothesis)

(D) none of the above

TBC-39/13/ET 18"



I e R R T e ap—— Snepm—
(A) T g fag W
(B) 10 I¢ uy=mg
(C) 3w w99 fagsit w
D) S¥w § § = ft =&
32. v Yl ww T ufeewm ® o
(A) S Wa w9 @ ¥
®) W= s e E
(C) uftwrean fousw sfs 7@ @@

(D)‘ g% diEeTT Sos s fag 5@ & o sitar o & sefe 92 w=an
TE awmam e

33. f&f@ wHR # I (type II error) 39 &9 3= =t ¥ w9
(A) ¥ Hy 1 TFRa § 5&f% Hy, 9 ¥
(B) ®4 H, % ®&Rd § w@ H, ¥4 &
(C) ¥ H, # T&Ra ¥

(D) 39gF ¥ ¥ HE oft T
TBC-39/13/ET | 19 P.T.O.



34. Demographic dividend refers to a rise in population :
(A) between the age group of 1 to 14 years
(B) between the age group of 15 to 64 years
(C) between the age group of 65 to 74 years
(D) above 74 years

35.  Usual principal status unemployment is calculated with reference to which

-

one of the following periods ?
(A) one week (B) one month
(C) one year (D) five years

36. Who among the following Weré the pioneers in estimating poverty in India

for rural and urban areas separately ?
(A) P.K. Bardhan and B. S. Minhas
(B) V.M. Dandekar and N. Rath

(C) M. Ahluwalia and P.D. Ojha

(D) E.P.W. Dacosta and N. Rath

TBC-39/13/ET 20



34.

35.

36.

SHifFsE oy feg SHEew 9fs § wErud ® /
(A) 1@143‘6? g a1 % 9A

(B) 15@64aés1rgaﬁf=ﬁqw

(C) 65T 74 98 I T F HAA

D) 7499 ¥ Afuw

arrg feafd fggr ST (usual principal status unemployment) fr=fafes

# ¥ frg oafa 3 W9 FEred ¥ 2
(A) TH F@w© (B) TH WE
(C) T o8 (D) dfa =

Wﬁﬂﬁm%:@@ﬂwmﬁnﬁﬁﬁm—mm

% fou faemm 27

@ W F wR o #w e

(B) . TH. TOSH T . W
(C) TN sEgEiEE @ d. €L S

D) % . Teg T W @ W

TBC-39/13/ET | 21 P.T.O.



37.

38.

39.

Public goods are characterized by :
(1) collective consumption

(2) divisibility

(3) non-exclusion

(4) rival-consumption

- Select the correct answer using the codes given below :

(A) (1) and (2)

(B) (1) and (3)

(C) (1) and (4)

(D) (2) and (4)

Which one of the following taxes/cess is levied by states in India ?

(A) Tax on motor vehicles (B) Tax on hotels

(C) Education cess (D) Tax on wealth

Which one of the following is a capital receipt in government Budget ?
(A) Interest receipts on loans given by the government to other parties
(B) Dividends and profits from public sector undertakings

(C) Borrowing of the government from public

(D) Property tax receipts

TBC-39/13/ET 22



37. gEwE FEe el w1 9§ o

(1) affem sasim

(2) fayrsgam

(8)  TR-3rasil
(4)  foQst-sas

9 ffu T w2z w1 v W \@E SW 9T
(A) (1) T (2) B) (1) W@ (3)
©) MW@ : D) (2) @ )
38, Frefefen § @ wEE 9 W@ § T GO T ¥ 2
| (A) - T T T S A, 3%
(B) ®BRH 9w
(C) Toram W =X
D) wH WH
39. Frofefen § @ wFE wWHR wwe § $Sm Wi ¥ 2
(A) TR g0 39 T@l & ®wU R fGm s T =
(B) HEwHE & & SUHH H 9 T AR
(C) &R B0 SHa1 9 faan SM 9 SuR

(D) gmfa T wife

TBC-39/13/ET 23 P.T.O.



40. The ‘Laffer curve’ explain the relationship between which of the following ?

(A) Tax rates and tax revenue
(B) Tax rates and employment
(C) Tax rates and incom;
(D) Tax rates and government expenditure
41.  Which one of the following is not the canon of taxation as stated by Adam
Smith ? LSy | '
(A) Canon of: equality
(B) Canon of certainty |
(C) Canon of convenience
(D) Canon of productivity
42. Tobin tax is tax on :
(A) export
(B) import

(C) transaction in foreign exchange

(D) sales

TRC-39/13/RT 24



40. ‘ww’ﬁwmﬁﬁmiﬁamaﬁm%?
(A) TR W W AH
(B) W W T 9
(C) = W W I
D) R T TEH =
41. ﬁmﬁ@aﬁqmwfmamm'waﬂmmm(canoﬁ of taxation)
T 7 ?
(A) FHar =1 fag=
B) fFifr=saa =1 fagm=
(C©) gma =1 fagra
(D) SORHwS F1 g
42, ‘A B A W AR T
(A) Tl
(B) &
(C) faesht fafrrma & dmy

(D) fasmt

TBC-39/13/ET - 25 PT.0.



43. Equity in taxation can be best achieved by applying the principle
of :

(A) benefit
(B) Equal absolute sacrifice
(C) Equal proportional sacrifice
(D) Equal marginal sacrifice
44.  Heckscher-Ohlin theqry expla.ins that trade is caused by :
(A) differences in labour productivity
(B) low transport cost
(C) technical differences
(D) differences in factor endowment
45.  According to Rybezynski theorem :
(A) Trade leads to improvement in productivity
(B) Trade benefits only the developed countries
(C) Trade equalises the prices of goods across the world

(D) If one of the factors of production increases, the other being constant,
. the output of good using accumulating factor intensively will increase
the output of the other good will decrease in absolute amount, provided

the factor and commodity prices remain constant

TBC-39/13/ET 26



43.

44.

45.

1 # 3 o fog g0 ormeas U 9R wa e w1 wwar & 7
(A) &9 (B) wuH 9y =
(C) HHFA IS =& . (D) A dHH ®&@

TFI-2EfdT (Heckscher-Ohlin) & fagr & 3UR S=R<E AR H1 FHRW ;
(A) T IY F A HH Pl ISORHFA H RN

(B) = amdm@Em e

(C) d=dTenl 3=

(D) =&E 9= (factor endowments) H 3=

fafs=g#1 (Rybezynski) &1 999 & FA9R :

(A) AR & HO IAEHA T g

(B) =R waa fowfaa Iz & fod & v 2

() =R fafu= 29 & sl A 9o § gEEa @@ ¥

(D) @f wF weF # 9fd sedl € 9 o= 9A fer W ¥ 39 ag W
IR T ¥ S TR WY H1 i WM FGA § qd 39 o 1 I
Ry 9 F W@ ® S 39 WEA F FHH FA0 wL ¢ A awgell wt wied

agqr "WyH g feem wd ¥

TBC-39/13/ET 27 PT:0;



46. Tariffs for eradicating unemployment is an example of what is called :
(A) import substitution policy
(B) Begger-my-neighbour policy
(C) fiscal policy
(D) expenditure reducing policy

47. Monetary approach explains equilibrium and disequilibrium in balance of

payment in terms of :

-

-

(A) Inflation and deflation in the domestic economy
(B) Supply of money and demand for money
(C) Awvailability of credit
(D) Existence of financial institutions in the country
48. Under flexible exchange rate system exchange rate is fixed by :
(A) the IMF
(B) the countries after -negotiating with each other
(C) market forces

(D) speculators in the foreign exchange market

TBC-39/13/ET 28



46.

47.

48.

w29 F ST F R FA B A A wes an Frefate ifa s S
¥

(A) A ioeards Hifd

B) FR-HE-R A (Begger-my-neighbour policy)

(C) TSR Hifd

(D) =49 TH=a Hifd
w@ﬁ%aw_mﬁmmwmﬁmm%:
&) e s # AR @ e

(B) Hx &1 =i W mm w9

©) @ F I

(D) =2v # faxim SwuE w1 e

TR faf @ e # fafmm @ @ fERe ! fRE ST R
(A) =R 9@ ®e (IMF) 51

(B) fafs= 29 § sa=ita & BN

<c>‘ R vl g

(D) faesft gz 9 § w&ARE g™

TBC-39/13/ET 29 PO



49. Under the new foreign trade policy declared by the Government of

India :
(A) Import duties have been increased
(B) State trading has been given more importance

(C) import duties have been substantially reduced and import licenses have

been abolished
(D) None of the above
50. Tariffs is an example of :
(A) Expenditure switching policy
(B) Expenditure-reducing policy
(C) Monetary policy

(D) None of the above

TBC-39/13/ET 30



49 UG WER g Hied 92 facw =mar Aifa 7@

(A)

(B)

(C)

(D)

50. WYTH

(A)

(B)

(C)

(D)

A WIS I GgEl A R

wez fen w1 offus Tew femm T ®

A e WA WX 3 T ¥ A oW Wed @ s

=1g f@=a (switching) ifd

=9 Heagpad A

Hifser Hifa

Iged § ¥ wE off 7@
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